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~ YOU ARE THE MANAGER OF A .
'PRESTIGIOUS NEW HOTEL IN
DOWNTOWN CLEVELAND-

“TURKEY TOWERS .
AT S JUST THE “GOBBLE OF THE TOWN™ AND YOU WANT
TO KEEP ITS REPUTATION A CUT ABOVE ALL THE OTHER
HOTELS. |
YOUR PROBLEM IS YOUR CLIENTELE...

THEY ARE A BUNCH OF TURKEYS.



YOUR MAJOR TASK IS TO FILL ROOMS IN YOUR HOTEL.
TURKEY TOWERS ONLY HAS STAIRS. YOU MUST FILL UP

YOUR HOTEL KEEPING THE FOLLOWING RULES IN MIND:

Ty rkeys have SHORT LEGS, they don't want to walk up stairs, if
they don't have to! |

@ Tu rkeys are FEISTY and want to room by themselves, but they

would rather room with another tu rke:.a than walk up more

stairs.
B Turkeys think they are UGLY (which is sad). If turkeys are in the
. same room they will face in opposite directions (1 up, 1 down).
BTy rkeys are LOUD, and they keep each other awake with all

their gobbling, 50 you can't put more than two turkeys in each

rooim.



The floor plan to Turkey Towers 100155 like Ihlfg

Turkey Towers diagram:
6th floor __
sthfloor_______
4th floor

3rd floor

On the next slide we will

use the RULES from 2nd flﬂﬂr

slide 3 to book the
rooms.in the hotel! 1st floor




We uave  TURKEYS $00KED TONIGHT! LET" S FILL UP THE ROOMS BASED
ON THE RULES FROM SLIDE 311 |

Turkey Towers diagram:
6th floor

TURKEYS TO DRAG prei
s AND DROP 4th floor _

3rd floor __
2nd floor __

1st floor _




~ ToMORROW THERE ARE 14 TURKEYS BOOKLD TONIGHT! FILL UP THE, ROOMS
BASED ON THE RULES FROM SLIDE3! !

Turkey Towers diagram:
o 6th floor
TURKEYS TO DRAG 5th ﬂﬂﬂl’
L MO0 geh floor
3rd floor __
2nd floor _

1stfloor __




"W wAvE 9 TURKEYS BOOKED THURSPAY ! FILL UP THE ROOMS BASEQ ON THE
RULES FROM SLIDE 311 )

* Turkey Towers diagram:

Yy 6th floor
TURKEYS TO DRAG i o0
» AND DROP 4th floor
3rd floor __ _—

2nd floor __ ﬂ}f’
1stfloor_____ |



BUT WHAT DOLS THIS HAVE TO DO WITH CHEMISTRY? o

9 Now you will relate the *Hog Hilton™ to electron orbitals. e

Electron orbitals are modeled by the picture on the left and are :I""
grouped into principal energy levels. -

=3 6th floor
— = 5th floor
L 4th floor

~ 3rd tloor
Lo 2nd floor
1stfloor

ELECTRON ORBITAL DIAGRAM TURKEY TOWERS

).1 In the text box below, compare and contrast the electron orbital diagram and Turkey Towers.,

. Type Here:
&



THE ARRANGEMENT OF ELECTRONS IS PREDICTABLE .

Electrons follow predictable patterns when filling the Orbitals in the i
atom's electron cloud. The following are the RULES for efectron I_:t

configuration and orbital notation. You will compare these to the
Turkey Towers Rules from SLIDE 3 in the space below!

e- configuration Rule 1. Aufbau principle: electrons fill the lowest energy orbitals first
ﬂl‘.f—f In the text box below. Ly e the Turhir:lr Towers RULE that corvelates with the Aufban ["l'i:uripll_'.

Type Here:
=)

e- conf. Rule 2. Pauli Exclusion principle: each orbital can hold TWO electrons with opposite spins.

.3 In the text box. type the Turkey Towers RULE that correlates with the Pauli Exelusion Prineiple.

. N

Type Here:



THE ARRANGEMENT OF ELECTRONS IS PREDICTABLE .

Electrons follow predictable patterns when filling the Orbitals in the - ’.

atom’s eleciron cloud. The following are the RULES for electron -
configuration and orbital notation. You will compare these to the Turkey 2
Towers Rules from SLIDE 3 in the space below!

e- conf. Rule 3. Hund's rule: within a sublevel, place one e- per orbital before pairing them.

See the image to the right for a N‘@ N’ f +
visual depiction of this rule.

WRONG RIGIOT

(.3 In the text box, type the Turkey Towers RLULE that correlates with the Hund's RKule.

Type Here:



Lel's look atl the orbital notation of Chlorine.

CREITAL NOTATICN IS A VISUAL PEPICTION OF TWE ELECTRON ARRANGEMENT IN THE PIFFERENT ENERGY SUBLEVELS AND
USES ARROWS TO REPRESENT THE ELECTRONS AND THEIR “SPIN™ AND LINES TO REPRESENT THE ENERGY SUB~LEVELS

AND THETR CREBITALS,
@ Each line represents an orbital, or region 4p
that holds up to two electrons. ad

® Each arrow represents an electron.

4s
éSince Chlorine’s atomic #is 17, each atom 3P Tl_ Tl T

of Cl has 17 protons and, therefore ina 3 TT —
neutral atom, there are 17 electrons. S F T ,l. T ],
@ The electrons fill according to the rules Ep W . =
25

. outlined in the Freviuus slides!

‘15&' ‘




Let's look, at the electron configuration of Chlorine

@ Electron configuration displays the sublevels that contain electronsand the number of electrons that
are contained.

@ The number indicates the Principal Energy Levell You can kind of think of these as Bohr's rings...

@ The sublevels are the collection of orbitals that can be filled on each energy level. These are called s, p,
d, and f

@ The exponent next to each sublevel indicares the number of electrons that the sublevel contains.

@ Each sublevel has an amount of electrons it can hold.

@ Notice that there are exceptions to Aufbau’s principle. We will learn more about this next week!

— E:{p:_:_ngnl i5 number of e- in the sublevel

o

15222 2p° 3s2 3p> ) ;

. Add the exponents to check your answer ‘




Use your draw and text tools to draw the orbital

notation and electron configuration of Nitrogen

 Orbital Notation

1s 2s 2p

Electron Configuration

hote that Nitrogen s electrons cannol
fill past 2p! There are not enough
electrons o move bevond the
second principal energy level.






